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Replication Daily Profit Daily Late Wait Jobs
I $475.43 0.6500
2 525.17 0.6500
3 513.98 6.5500
4 389.42 0.6000
5 513.96 0.7000
6 401.20 1.0500
7 450.52 0.6500
8 388.71 0.9000
9 574.67 0.4000
10 565.81 0.2500
Daily Late
Daily Profit ‘Wait Jobs
Sample Mean $ 479.89 0.6400
Sample Standard Deviation 70.17 0.0510
95% Confidence Interval Half Width 50.20 0.1616
Minimum Summary Output Value 388.71 0.2500
Maximum Summary Output Value 574.67 1.0500
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where ny is the number of initial replications you have and A is the half width you got
from them. In the Total Cost example, to reduce the half width from h, = $1,408.70
to, say, h = $400.00 we’d thus need a total of something like

nx 1.962L9'223- = 93.11(first approximation)

or

n=10 %‘80,70. = 124.03(second approximation)
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Describe how in one of arena components we can compare between the mean of two alternatives and
find the confidence internal for both and plot that confidence interval ——— ok ) Wb

Describe how in one of arena components we can compare between the mean of two alternatives and

find the confidence internal for both and plot that confidence interval ———4 L ! P I)-J-)
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Compare Means
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Describe how to Analyze alternative scenarios one with numbers of wnrkers equal to two or threg and
Fumber of machines 5 o six N in PAN with analysis for Entity. Time in system and system. Numher out (m°
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Describe how to optimize using optoquest alternative scenarios one with numbers of workers equal to
e P ey

two or three and number of machines 5 or six N in PAN with analysis for Entity. Time in system.
P PSR ]

Describe how to optimize using optoquest alternative scenarios one with numbers of workers equal to
two or three and number of machines 5 or six N in PAN with analysis for Entity. Time in system.
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